Efficiency vs Dxy(PV)

E O.":
X018 i e
35 E
» 0.16
>
20.14F
5 E
‘5 0.12
5 E
0.1
0.08f
0.06F
0.04F
0.02F
E. i
i)
=
©
o
10 15 20
TP dxy(PV) (cm)
—— DQN_ONgmal StepZ_har-phase LT
—e— DOM”pixelCPETemplate step? ttbar-pl asel-new%eom
—— DQM pixelCPETemplateCutChiSquarel0_step2_ttbar-phasel-newgeom
—— Dt pixelCPETemplateCutChiSquarel5_step2_ttbar-phasel-newgeom
— —— Dt pixelCPETemplateCutChiSquare20_step2_ttbar-phasel-newgeom
I Efficienc] —— b xel CPETemplateCutChiSquare30_step2_ttbar-phasel-newgeom

20 30

.5 1
TP dz(PV) (cm)



	Contents
	Page 1


